MATHEMATICS: ORDER OF OPERATIONS DEMO (D-2) Name:
CHALLENGE '

137)

(32 +8) = (T+(=7)))) + (=3) x (362 +6) — 9z =

138)

(5> 0y x (=3z)) + (((10 + (=3) x 0)) + (=22))) x (—4) =

139)

Ty — (—6z) +(—6) x 4o — (4 —2y +0) 4+ 6)) =

140)

6y — (—1ly) x 3z = Hdx +9 — (10 = (—2)) = (—1))) =

141)

(((bx + (=92)) + x)) x (—4y) x (8 + (—=10y) + (—4x) x 0) =

142)

(((5 % 2 % 0g)) = (6= (—3))) = 10 x (—22) = (—10y) =

143)

20z + (=5) + 16 — 10y + (—Ty) — 224+ 3 — (—2y) =

144)

(24 (=6)) + (=6) + (((0z x (—12) — 8x) + (—4)) + 0z) =

Mathematics: Order of Operations Demo - Set 2 19


https://www.workulum.com

